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DO x=-2

® x=3
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@D 2x+4=0 @ 5-2x=2x-4
® 3x=x-4 @ 2(x-2)=x-6

® 3(x-2)=5x-2
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@ 2(x+1)=-x+3

D 2x-1=2

@ -(x+1)=x-5
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®4-(x-1)

® 5=2(x+1)
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@ 4x-3=2x+15
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@ 2x-2=-4 © 12x+1=-13

© Hx+2=1+4x ® bx+6=1
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O -3x-4=5 @ x+5=-2x-4
® 2(5x+7)=b5x-1 @ 30x+5 =065

® 4x+9=x
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® 2x-3=9 @ 2(x+1)=3x-4
® 5x-T7=3(x+1) @ Tx+1=2x+3

® x-1=2x+6
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® 2x=10-3x @ 9-2x=x
®2(x+2)=1 @ 3(x-1)=4x

® 4(2x-3) = 5x



20.

o
A 4x -3 =x-6 9 sll7tx =a, -(Bx—4) = 2x- 16 <

b, ab 9 242 Ffolel.



o

[

‘_.,MO

B

sholat,

;r_L

O
=

ol g

b



=2 47

ax+b=0 9

N
=

_ 1
12 A 3 (x— 1) = —4 (ix—4> +1

[e]

22.

sholat,

:[L

O
=

H, a+ b2l 2L

[e]
/Ji—é_

gl



23.

J24 3 - bx = —3x+4 9 e} T2 & z+= LAA

@ 5x+2=17 @ Tx-11=4x-1

® x+8=-2(x-1) @ 3(4x-7)=1-7(2x+5)

® -5(x+6)=12(x—4)
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@ —x+10=3(x+2)-2x @ 3(x+4)=-(x-8)-4
® -(x-3)+9=23x-1) @ 4x-(x-7)=-2(1-x)
® 3x-(x+4)=x-5
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D 2-3x=2(x-4)

@ 3(2x-1)=4x+1

® x-(bx-11)=-2(x-5)-3
@ -3(2x-7)=-(x-14)

® —-(11-4x)=3(-x-1)+6
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3e(x+D}+{(2x-4) @1} =8
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